
Table 2. Numerical Experiments

Description Experiment Non-benchmark parameters

Cheaper Home Investment with q falls, q2000/q1950 = .23 τdt = .27

Moderate elasticity ψ2 = −.75

Larger elasticity ψ2 = −4

Improved Home Technology A2 rises, A2

2000
/A2

1950
= 5 ψ2 = −.75, λf = .2, ψ1 = .68, ψ3 = .52, κ1 = ζ1 = .097, κ2 = ζ2 = .001

Inferior Home Goods c2 ≤ c∗ binds c∗ = .049

Fall in Discrimination with τd falls

Benchmark parameters τd 2000/τd 1950 = .72

Equal utility weights τd 2000/τd 1950 = .53 λf = .5, ψ1 = .63, ψ3 = .65, κ1 = ζ1 = .23, κ2 = ζ2 = .31

No human capital τd 2000/τd 1950 = .46 κi = ζi = .001, τd,1950 = .48, ψ1 = .71, ψ3 = .45

Market-only human capital τd 2000/τd 1950 = .47 κ2 = ζ2 = .001, κ1 = ζ1 = .047, τd,1950 = .42, ψ1 = .76, ψ3 = .47

Sector-specific capital τd 2000/τd 1950 = .50 κ2 = ζ1 = .001, κ1 = ζ2 = .1, τd,1950 = .40, ψ1 = .72, ψ3 = .47

Married men subsidized τd 2000/τd 1950 = .50 ψ1 = .62, ψ3 = .58, κ1 = ζ1 = .24, κ2 = ζ2 = .20

No singles discrimination τd 2000/τd 1950 = .72 τℓ,fs = τℓ,ms
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